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 BBCCT-101  

BACHELOR OF SCIENCE (HONOURS) IN 

BIOCHEMISTRY (BSCBCH) 

Term-End Examination 

June, 2022 
 

BBCCT-101 : MOLECULES OF LIFE  

Time : 3 hours Maximum Marks : 70 

Note :  Attempt any seven questions. 

 

1. (a) Match the following correctly :  51=5 

(i) Friedrich Wöhler   (a) Unsaturation 

(ii) Haworth Projection (b) Ring Structures  

(iii) tRNA (c) Vitamin B5 

(iv) Iodination (d) Urea Synthesis  

(v) Pantothenic acid  (e) Pseudouridine  

(b) Complete the following sentences :   51=5 

(i) In _________ process, separated DNA 

strands join together.  

(ii) Xerophthalmia is developed due to 

the deficiency of _________.  

(iii) A person with _________ blood group 

is known as universal receiver.  
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(iv) A monosaccharide with seven carbon 

atoms is known as _________ sugar.  

(v) _________ is an -imino acid.  

2. Draw the structures of any five of the  

following :  52=10  

(a) D-Glucose 

(b) Tyrosine  

(c) Triacylglycerol  

(d) Vitamin E 

(e) tRNA 

(f) Tertiary structure of protein  

3. (a) Define Biochemistry. Write a short note on 

interdisciplinary nature of biochemistry.  5  

(b) Describe the polar nature of water 

molecule.  5 

4. (a) Define isoelectric point. Explain how amino 

acids act as acid as well as base. 2+3=5  

(b) Discuss the secondary structure of a 

protein, using a neatly labelled diagram.  5 

5. (a) Define carbohydrates. Illustrate the 

classification of carbohydrates with suitable 

examples.  2+3=5  

(b) Explain the concept of reducing and  

non-reducing sugars with relevant 

examples.  5 
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6. (a) Differentiate between cellulose and starch.  5  

(b) Write a note on classification of blood group 

antigens.  5 

7. (a) What is saponification number ? Explain 

the mechanism of action of soap.  5  

(b) Write a short note on the sub-classes of 

sphingolipids.  5 

8. (a) Give a detailed note on experimental 

evidences of DNA as genetic material.  10 

OR   

(b) Explain the structure of tRNA and DNA 

with the help of suitable diagrams.  10 

9. Explain any four of the following : 42
2

1
=10 

(a) Nucleotides  

(b) Cholesterol  

(c) Vitamin D 

(d) ATP 

(e) Secondary Messengers  
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 ~r.~r.gr.gr.Q>r.-101  

O¡d-agm`Z _| {dkmZ ñZmVH$ (Am°Zg©) 
(~r.Eg.gr.~r.gr.EM.)  

gÌm§V narjm 

OyZ,  2022 

~r.~r.gr.gr.Q>r.-101 : OrdZ Ho$ AUw 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 70 

ZmoQ> :  {H$Ýht gmV àíZm| Ho$ CÎma Xr{OE &  
 

1. (H$) {ZåZ{b{IV H$m ghr {_bmZ H$s{OE :  51=5 

(i) \«$sS>arM dmoba (a) Ag§V¥{á 

(ii) hmdW© àjonU (b) db` g§aMZm 
(iii) Q´>m§g\$a Ama.EZ.E. 

(tRNA) 

(c) {dQ>m{_Z ~r5 

(iv) Am`moS>rZrH$aU (d) `y[a`m g§íbofU 

(v) n¡ÝQ>moWo{ZH$ Aåb (e) ñ`yS>mo`yarS>rZ  

(I) {ZåZ{b{IV dmŠ`m| H$mo nyU© H$s{OE :  51=5 

(i) _________ à{H«$`m _| AbJ {H$E JE DNA 

ñQ´>¢S>/V§Vw Amng _| Ow‹S>Vo h¢ & 

(ii) OramoßW¡b{_`m _________ H$s H$_r Ho$ H$maU 
hmoVm h¡ & 

(iii) _________ aº$ g_yh dmbo ì`{º$ H$mo gd© 
J«mhr (`y{Zdg©b [agrda) Ho$ ê$n _| OmZm OmVm  
h¡ & 



BBCCT-101  5   P.T.O. 

(iv) gmV H$m~©Z na_mUwAm| dmbo _moZmog¡Ho$amBS> H$mo 
_________ eH©$am Ho$ ê$n _| OmZm OmVm h¡ & 

(v) _________ EH$ -B{_Zmo Eo{gS> h¡ & 

2. {ZåZ{b{IV _| go {H$Ýht nm±M  H$s g§aMZm ~ZmBE : 52=10 

(H$) D-½byH$mog 

(I) Q>mBamo{gZ  

(J) Q´>mBE{gbp½bgam°b 

(K) {dQ>m{_Z B© 

(L>) Q>r-Ama.EZ.E. (tRNA) 

(M) àmoQ>rZ H$s V¥Vr`H$ g§aMZm  

3. (H$) O¡d-agm`Z H$mo n[a^m{fV H$s{OE & O¡d-agm`Z H$s 
A§V…{df`r àH¥${V na EH$ g§{jßV {Q>ßnUr {b{IE & 5   

(I) Ob AUw H$s Y«wdr` àH¥${V H$m dU©Z H$s{OE & 5 

4. (H$) g_d¡ÚwV q~Xþ H$mo n[a^m{fV H$s{OE & g_PmBE {H$ 
H¡$go Eo_rZmo Aåb, EH$ gmW Aåb VWm jma H$s 
Vah H$m`© H$aVm h¡ & 2+3=5   

(I) ñdÀN> Zm_m§{H$V AmaoI Ûmam àmoQ>rZ H$s {ÛVr`H$ 
g§aMZm H$s MMm© H$s{OE & 5 

5. (H$) H$m~m}hmBS´>oQ> H$mo n[a^m{fV H$s{OE & Cn`wº$ 
CXmhaUm| Ho$ gmW H$m~m}hmBS´>oQ> Ho$ dJuH$aU H$mo ñnï>  
H$s{OE & 2+3=5    

(I) AnM`r Am¡a AZnM`r eH©$am H$s AdYmaUm H$mo 
àmg§{JH$ CXmhaUm| Ho$ gmW g_PmBE & 5 
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6. (H$) gobwbmog Am¡a _m±S> (ñQ>mM©) Ho$ ~rM A§Va ñnï> 
H$s{OE & 5   

(I) aº$ g_yh à{VOZm| Ho$ dJuH$aU na EH$ {Q>ßnUr 
{b{IE & 5 

7. (H$) gm~wZrH$aU g§»`m Š`m h¡ ? gm~wZ Ho$ {H«$`m H$s 
{H«$`m{d{Y g_PmBE & 5  

(I) pñ\¨$Jmo{b{nS> Ho$ Cn-dJm] na EH$ g§{jßV {Q>ßnUr 
{b{IE & 5 

8. (H$) AmZwd§{eH$ gm_J«r Ho$ ê$n _| S>r.EZ.E. (DNA) Ho$ 
àm`mo{JH$ gmú` na {dñV¥V {Q>ßnUr Xr{OE &  10  

AWdm   

(I) S>r.EZ.E. (DNA) VWm Q>r-Ama.EZ.E. (tRNA) H$s 
g§aMZm H$mo Cn ẁº$ {MÌm| H$s ghm`Vm go g_PmBE & 10 

9. {ZåZ{b{IV _| go {H$Ýht Mma  H$s ì`m»`m H$s{OE :  42
2

1
=10 

(H$) Ý`ypŠb`moQ>mBS> 

(I) H$moboñQ>oam°b 

(J) {dQ>m{_Z S>r 

(K) E.Q>r.nr. (ATP) 

(L>) {ÛVr`H$ g§XoedmhH$ (goH|$S>ar _¡g|Oa) 

 

 


